NERT 2 r—bDREHERICONT

SH6FIAICKRIBNZUE U MR >T—R] ADTHNBDHRESZTETNELUE. BRZHESEBTVLWERLEET . SADTER
Z26Elc. BE—A—ADRBSZEDERED. SEOY—EXARECEILTENDET,

T f;x% RHEE OPREBR OPPRFE BFH
A > [N\ 3 = [v) 0, 0, 0, 0, 0, 0, 0, 0, 0, 0,
SF6E9 A HmE e P il " 0% 10% 20% 30% 40% 50% 60% 70% 80% 9(|M, 100%
BE (HlLrsD - 882, 108 1.0 0.0
EEOML - BT EmmEsrg 102 88.2 10.8 1.0
L7AdA) [FLvhh 9.6 55 21 20
TLE=h
) 92.1 6.9 1.0 0.0
175 -14.2 -2.2 -1.1
90.5 95 0.0 0.0
18.6 =159 -2.1 -1.0
86.7 12.0 1.3 0.0
18.6 -11.2 -74 0.0
89.5 9.7 0.8 0.0
15.7 -11.5 -3.1 -1.1
LW EZFER 88.6 93 21 0.0
FEIETEEL ! E=EmLppy 97 88.6 93 2.1
= 175 -10.3 -5.1 -2.1
) 90.5 95 0.0 0.0
19.0 =87/ -4.2 -1.1
86.7 13.3 0.0 0.0
EI5ER 98 86.7 13.3 0/0
16.5 -13.3 =21 -1.1
86.1 125 14 0.0
20.5 -10.9 -8.0 -1.6
88.2 11.0 0.8 0.0
18.1 -12.1 -4.6 -14
BAEONY T 840  16.0 0.0 0.0
3.8 1.7 =53 0.0
) 86.3 12.6 11 0.0
18.5 -15.0 =35 0.0
85.6 14.4 0.0 0.0
14.7 -114 -2.2 -1.1
89.8 10.2 0.0 0.0
E AR BT &R 59 LK 10.2 00
249 -19.6 =33 0.0
86.1 13.6 0.3 0.0
14.5 -10.2 -4.0 -0.3
AREfzENTLOELE | 0 T e 103 48
H 17.5 -11.9 -45 ~1.1
TS NT—FFonTL 871 105 12 12
FLE=HD 86 87.1 105 1.2
20.7 =53 =55 0.1
éﬁsﬁﬁ L —C}ﬁEL\T: =1+ 80.7 19.3 00 00
i B8 193 0o
23.3 -15.5 -5.6 -2.2

%‘%gg*ﬁﬁ%%ﬁif agmE | x| 205 EEzOm
93.0 3.5 2.3 1.2 86




